Décomposition LU $\quad A=\left(\begin{array}{ccc}2 & -1 & 0 \\ -1 & 2 & -1 \\ 0 & -1 & 2\end{array}\right)$

$$
\begin{aligned}
& L_{1} \leftarrow \frac{1}{2} L_{1} \quad U=\left(\begin{array}{ccc}
1 & -1 / 2 & 0 \\
-1 & 2 & -1 \\
0 & -1 & 2
\end{array}\right) \quad L=\left(\begin{array}{lll}
2 & 0 & 0 \\
0 & 1 & 0 \\
0 & 0 & 1
\end{array}\right) \Omega \\
& l_{2} \in l_{2}+L_{1} \quad U=\left(\begin{array}{ccc}
1 & -1 / 2 & 0 \\
0 & 3 / 2 & -1 \\
0 & -1 & 2
\end{array}\right) \quad L=\left(\begin{array}{ccc}
2 & 0 & 0 \\
-1 & 1 & 0 \\
0 & 0 & 1
\end{array}\right)- \\
& l_{2} \leftarrow \frac{L}{3} l_{2} \quad U=\left(\begin{array}{ccc}
1 & -1 / 2 & 0 \\
0 & 1 & -2 / 3 \\
0 & -1 & 2
\end{array}\right) \quad L=\left(\begin{array}{ccc}
2 & 0 & 0 \\
-1 & 3 / 2 & 0 \\
0 & 0 & 1
\end{array}\right) \\
& l_{3} \leftarrow l_{3}+L_{2} \quad U=\left(\begin{array}{ccc}
1 & -1 / 2 & 0 \\
0 & 1 & -2 / 3 \\
0 & 0 & 4 / 3
\end{array}\right) \quad L=\left(\begin{array}{ccc}
2 & 0 & 0 \\
-1 & 3 / 2 & 0 \\
0 & -1
\end{array}\right)
\end{aligned}
$$

$$
l_{3} \leftarrow \frac{3}{4} L_{3} \quad U=\left(\begin{array}{ccc}
1 & -1 / 2 & 0 \\
0 & 1 & -2 / 3 \\
0 & 0 & 1
\end{array}\right) \xrightarrow{L}=\left(\begin{array}{ccc}
2 & 0 & 0 \\
-1 & 2 / 2 & 0 \\
0 & -1 / 4 / 3 / 3
\end{array}\right)
$$

